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Addition (5) - using an expanded method

(numbers with 1 decimal place)

Example: If I need a 3.7 metre wooden shelf and a 5.6 metre wooden shelf, how much wood do I need altogether?
So we need 5.6+3.7 

This can be done as below. 

The tenths are added first, 0.6 add 0.7 = 1.3. It’s important to say nought point six add nought point 7 NOT six add seven. The total of 1.3 is recorded. 

The ones/units are then added, 5+3 = 8. Finally the 1.3 and 8.0 are added mentally to give the final total of 9.3.






This then is used to answer the question.

Altogether that is 9.3 metres of wood.
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